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ma Assignment ass—

Complete pgs. 457 - 458
Questions 3, 8,9, 10a, & 11
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= Solutions ————

3. Solve each system of eqyuations
b\ﬁﬂ Srop'mmﬁ.
O‘) b Y2 DX +Y Vi=(z/ 300eY
i \3( )2 f/
y=-3(X+6 ,7'\

AR cpeeel -\
SouTron: (-6,0)

=0

b) | y = fxa__ k.é ~+ -/-L \‘1::{:-1.;44.1\ \
V=L (X-2)"+3 [ 7
: 2) w=0 - ﬁgngtrncl}ian -
SolWTTonS 3 (0,1) and (4,1)

a)l E)S"rimo%c The solutions
o the system of
equations Shown in
The %TC\@h-

So\UTIoNS: 2D & 6,5)
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m Solutions -,

) dolve the System Cx‘taebmico'h'!k‘j-

v=2%10
N = XX +5 @

@ \=2%-7 sub.in @

Q@ V= x*-6X+5
AOx=-1= X*—©X+5
O= A *—Y=2X+5+7]

= X=X + 12

=6 =2 sub.n@®
3 hen X=64 A"'.',hf"if.’ X= 2
© y=2%7 N=2%-7 _
v =2(6)7 \:;4': 202)-
g =127 V= o s
=58 Ny =3
J i
OOV TTONS ¢ Ne land (2}~ 3)
-:’g 3!'_':!_'( '.,;:"us_ J'J-'E.-'All"{ I 1
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m Solutions -—,seeee———

4. Without solving the System
4mMm*-3n=-2 and Mm*+1m+Sn=7,
o

determine wWhich S{g)'“:u”%-fom 1S
Ccorrect: (L. 1) or -1).
< 2 ) 0k )
m M
W
=Y AR L.S. R.S.
\ 2, / Y30 -9,
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™
2
= (1 ,-1)
‘5\ 2. vf'-';'

¥ SCLUTTIONS (
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Solutions -———————

0. Solve eoch SYStem GXSebvo\cal\y
:’gwma exact answers. “Explain
hy “you choSe The me+hod you
used
al p= 38K+ O
pP= 6K*+I10K-Y @
p=3K+! Sub.in@
@) p=6K*>+10K-Y
AKk+l= 6K*+10K-4.
O=LK*+10K-3K-N~
Q=62 TTK=5 {mmmpb. ion or Qued. Form }
a=G,b=1,c=-5
X=-b\p*>Mac
1_2—,
X=-T1ENORHE)E)
206F
x=-1£ {49+ 12,0
1
X=—1%F NIGcY
12
X=-"1£13
P
2=—1xl3 O A=S-T1-]3
L 12
xX= & 'X~—_&{:':
| 2. 12
= I xX= = Sub.in
2 3
=>K=_1_ o e it
2 3
When X=_1°¢ When K=-5 3
® p=3K+| SKH
\\g:e(.,a._)ﬂ 0= 57-3 )+
2).2) 12 ﬂ
1 = '%"q = 5 +
p=3 p= IS
N= 34+ = -5+
PrETE —
P= 2
¥
% SoTToNS: (L,5) and (-5,
{ (£-5)ond ((5,=4).
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m Solutions -—,seeee———

Yy

[1. TThe approximate hey ht,h, in meters
"h"a\/e‘ﬁa'\\ed by olf balls hit with +wo
different cluls over o herizontal
distance of d meters is given by
he wccawowma functions:

Seven-iron: N(d)=-0.002.d*+0.3d
nine-iron. hd)= ~0.004 d*+0.5d

a) A* what distances is +he ball
0x +he Same height when either
of the clubs 1s Yused?

N=-0.002d2%+ 0.3d @
h= ~0.00Md*+ 0.5d @

® h=-0.002d*+0.3d sub.in®@

@-0.002d> + 0.3d = ~-0.004 d*+0.5d
-0.002d*+ 0.004d*+ 0.3d -0.5d =0

Q.002d2~-0.2d =0
d (0.002d -0.2)=0
d=0 or 0.002d-0.2=0

Qoe2d=_0.2,
Q062 Q.00
.. . d= 100
Ihe ball 1Is at+he same i\en‘q%ﬂ" when
+he diStance s Om (before ¥ s hit
and When i+ 18 100m.

o
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=  Solutions T
B) What is +his height?

.‘:\,;‘f\ler\ Ql—'r o | hen \J 100
N= -0.002d%+0.3d *Q«-Q 002d%*+ O 6&
h==0-002)*+03(0) h=-0.002000) *+0.3(J0)

= O +O h=-0.002.(0 0COH 30
n=O R" 20 +30

=‘ﬁ<=' ball reaches a ‘Wesw\ + ofF Om
wht\\ +he distance s a’lso ff\ N and
+he ball reaches o he.lcp‘r of 10m

when the distance 1S xCCW
=(0,0) and Cioo, I0)
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